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_ 1.1 For use with pages 2-7
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Evaluate the power.
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For use with pages 8-13

Evaluate the expression.
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Evaluate the expression.
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b Practice B
¥ For use with page.é_ 14-20

Translate the verbal phrase into an expression.

1. The difference of 9 and a number n I Q-0 l

3. Thesumof57anda numbel;b §5F+8
5. lSlessthananumberci a |g!

7. The quotient of 8 and twice a number z LS '
_ ‘ d = l

Find the unit rate.
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ICSTHE Practice B
14 For use with pagas 21-26

erta an equatlon or an inequality.
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Check whether the given number is a solution of the equation or inequality.
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Computers You are buying a new printer and a new scanner for your computer,

and you cannot spend over §150. The printer you want costs $80. Write an inequality
that describes the most that you canmspend o the scanner and still stay within your
budget.
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Complete the sentence.
1. The input variable is called the Y\g: variable.
2. The output variable is called the i variable, _ Xﬁ\O\e

Tell whether the pairing is a function.
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Make a table for the function. Identify the range of the function.
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Write a rule for the function.
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11. Shoe Sizes The table shows men’s shoe sizes in the United States and Australia.
Write a rule for the Australian size as a function of the United States’ size.




Practic e C continued
. For use with pages 42— 48

‘Graph the function.
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Write a rule for the function represented by the table.
of the function.
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Identify the domain and range
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Wind Chill Temperatures The table shows the wind chill

temperature w (in degrees Fahrenheit), or how cold it feels
to you depending on the wind speed, as a function of the
actual temperature  (in degrees Fahrenheit).

a. Graph the function-represented by the-table. \=-“‘/7
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b. Describe how the wind chill temperature changes as the

actual temperature decreases.
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